A graph of 10 tosses of acoin
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A graph of 1,000 tosses of acoin

Percentboge of heads
1 1
a oot Ao ﬁn.&q

T T
0 LSRN 100000
Flurmilbssr of tossess

=TT ™

A graph of 10,000 tosses of a coin, like the Chapter 16 example:
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How about asingle die, suppose werall it 6 times, what do you expect to happen?

O G B T T Nunber |
shown on |
die with 6 |
sides | Freq Per cent
4 0 || o eeeaa---a e e e e e e e e e .-
2| 1 16. 67
3| 1 16. 67
c 4 | 2 33.33
2 ] 6 | 2 33.33
L. I IR e e e ee e e e
L
Total | 6 100. 00
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And if werolled asngle die 100 times? What would you expect?
Nunber |
shown on |
die with 6 |
si des | Freq. Per cent
___________ o e e e e e e e e e e e e e e e e m =
1| 15 15. 00
2| 22 22.00
- 3| 17 17.00
a 4 | 17 17.00
8 5 | 14 14. 00
L 6 | 15 15. 00
........... o,
Total | 100 100. 00
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And what do you think happensif we wereto roll it 200,000 times? (Guess and then look at the next page)



Jlaay T

Fraction
1

T T T | T
1 2 & “ 5 &

Flormibesr showvan an dies waiths & sicles

ET=aET=a™

Thegameof "crgps’ in Las Vegasinvolvesrolling 2 die smultaneoudy. What are the possible outcomes?

2,3,4,56,7,8,9 10,11, 12

There are 11 possible outcomes. What if | wereto roll 2 die 11 times, what would we expect to see?

Fraction
1
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Total of 2 dice with & sidess

=TT -

Nunber |
shown on |
die with 6
si des | Freq Per cent
............ e m e e e e e e e e .-
1] 16575 16. 58
2 | 16750 16. 75
3| 16475 16. 48
4 | 16636 16. 64
5| 16687 16. 69
6 | 16877 16. 88
____________ e e e e e e e e e e .- =
Total | 100000 100. 00
Total of 2
dice with 6
si des | Freq Per cent
____________ o e e e e e e e e m =
2| 2 18. 18
4 | 1 9.09
6 | 1 9.09
8 | 3 27. 27
9 | 3 27.27
10 | 1 9.09
............ e e e e e e e e
Total | 11 100. 00

And what if we rolled 100 times? Or 100,000 times (the typical number of rollsin sngle night in abusy casno

in Las Vegas)




100 Rolls of 2 die

— Total of 2 |
: dice with 6 |

sides | Freq. Per cent

____________ Fom e e e e mm e e e — =

2 | 3 3.00

y 3| 1 1. 00

4| 4 4.00

5| 18 18. 00

- 6 | 16 16. 00

E‘ 7 7 | 17 17. 00

i 8 | 19 19. 00

9 | 12 12. 00

10 | 7 7.00

] 11 | 2 2.00

12 | 1 1. 00

____________ oo o e e e mmmme—ao-

Total | 100 100. 00
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Total of 2 dice with & sides
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And 100,000 times?
G S T
Total of 2 |
ice with 6 |
4 sides | Freq. Per cent
........... O
2 | 2765 2.76
- 3| 5587 5.59
% i 4 | 8280 8.28
o 5| 11139 11. 14
T 6 | 13761 13. 76
7 16643 16. 64
8 | 13928 13.93
4 9 | 11059 11. 06
10 | 8421 8.42
11 | 5591 5.59
12 | 2826 2.83
oo e e o e e e e
e & 8 & & F B 3 o e & Total | 100000 100. 00
Tostal of 2 dices swith G sicesss

Take note -- where have you seen something that looks alittle bit like this before?




